Algebra 1

WARM UP:
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2.) Evaluate the following expression

Day 9 Notes -- Solving Linear Inequalities
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Solving Linear Inequalities...

INEQUALITY SYMBOLS—>
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WHEN YOU GRAPH ON A NUMBER LINE >

#+ The d |. IF @ G h 9)(3_ of the arrow indicates where the Sz;“ ‘ #’mq S' are!

< > . Indicates the value IS part of the solution
O Indicates the value IS NOT part of the solution set
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Describe the solution set for each of the following graphs:

1.
-7 -6-5-4-3-2-10 12 3 4 5 67

This inequality indicates that the solution set is (_QSS ’ ‘ \a’r\
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-] =6 =5=-4-3-2~-101 2 3 4 5 67

This inequality indicates that the solution set is 4 1 J |
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+*+ Solve just like you do for an equation (except no = sign).

¢+ The only difference, is when you multiply or divide by a NEGATIVE, the inequality si%@
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Solve each of the following inequalities and graph the solution set on a number line.

Examples:
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5. Thole number that satisfies the inequality 3x ’—/‘11 A2is

(1)1
(3)3

6. If x is a positive integer, then the solution set of 4x ;—ﬁ 14 is
2

(1) {1

m {1,2,3}
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8. Which number ember of the solution set of the inequality 4:1 2}: 187

(1) 4.4

(3) 4.6

9. Whatis @le number that satisfies the inequality 335,2,/ 1| <
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10. Which value of x isin the solution set of ;x ﬁ <177?
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